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E#R 4,691, 303
AT ARREEER 4,691, 303
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AT ARRREEER 4,595,700
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=
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E R 4,595,700 + 95,603 4,691,303
BEEAGE 4,595,700
EEREE 95, 603
Z Dt R i 4,595,700 x 53.85% ( 35% + (1 — 35% ) ) 2,474,784
RBRIE 4,691,303 + 2,474,784 7,166, 087
—REEES 7,166,087 x 53.85% ( 35% = (1 — 35% ) ) — 5,024 3,853,913
e LT 7,166,087 + 3,853,913 11,020, 000
HBETEMALE 11,020,000 x 10.00% 1,102, 000
EHERH 11,020,000 + 1,102, 000 12,122,000
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A 1.00 66, 900. 00 66, 900
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
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5:2
ZFF . ERINEEE 14y
2 b g - BIRTE By H = B ® W E " =
AR (A)
A 1.50 51, 200. 00 76, 800
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HEm (B)
A 3.00 41, 600. 00 124, 800
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A 8.00 58, 600. 00 468, 800
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A 15.00 32, 800. 00 492, 000
®iia
A 10. 00 29, 000. 00 290, 000
= H YEZEREDN 1. 00X 2,342, 000. 00 2,342,000
‘S5
B BEEER EE)
2 s 1BIE - AR B B B ff % 1 w =
1T HRER (R
A 1.50 58, 600. 00 87,900
®EF (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
H®EF (C)
A 2.50 32, 800. 00 82, 000
= it YEZERED 1. 00K 401, 900. 00 401, 900
&S 6
L - BE EE)
2 s 1BIE - AR SE Bif B B ff % 1 H =
B E
A 1.00 66, 900. 00 66, 900
1T HRER (R
A 3.00 58, 600. 00 175, 800
®EF (A)
A 3.00 51, 200. 00 153, 600
= it YEZERED 1. 00X 396, 300. 00 396, 300




REAR-ET/Avr—> SHAEERDLTHBERBR S RGBT KBEZER
&5
2% BE 1ty
2 # 1BIE - AR B B B ff % i w =
EX 1)
A 1.50 58, 600. 00 87,900
®EF (A)
A 1.00 51, 200. 00 51, 200
= it YEZEREDN 1. 00X 139, 100. 00 139, 100
&S :8
2 EHRALE 1ty
2 # 1BIE - AR B B B ff % i w =
EBRARE
= 1.00 40, 603. 00 40, 603
= it YEZERED - 1. 00 40, 603. 00 40, 603
&5 :9
L EBRBERE 13ty
2 # 1BIE - AR Bif B B ff % i H =
£BHERE
= 1.00 55, 000. 00 55, 000
= it YEZERED 1. 00K 55, 000. 00 55, 000




